3.

What is the function of a substation
in a transmission and distribution
system ?

(A) To gencrate electricity
(B) To store excess electricity

(C) To reduce voltage which can
safely be delivered to customer

(D) To convert electricity into another
form of energy

(E) Not attempted

A circuit that changes a binary code

into a particular set of signals is
called

(A) Encoder
(C) Decoder
(E) Not attempted

(B) Multiplexer -
(D) Selector

What is the primary function of an

amplifier in an electronic system ?

(A) Convert AC to DC

(B) Increase the frequency of a signal

(C) Enlarge a weak signal without
distortion

(D) Reduce the noise in a signal

(E) Not attemptt:d

Syntax errors are also kzwmm as

erTors.
(A) Logic -

- (B) Semantic

=
(C) Parsing

(D) None of the above

(E) Not attempted

Which of the following types of
oscillator produces an output with
a sine wave form ?

(A) Non-Sinusoidal Oscillator

(B) Sawtooth Oscillator '
{C) Harmonic Oscillator

(D) Pulse Oscillator

(E] Not attempted
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¥

@ Which one of the following is 6. Frefafaa i @ fraw! v wfy faft @
measured by the loss of charge I Gl A G E
method ?. . . ]El%
(A) Low Resistance (A) =R e
. ..[B) High Resistance (B) I=4 wfy
(C) Low Inductance - (C) 4
(D) High Inductance (D) == JRe
(E) Not attempted | (E) AmaiEd
7. Which of the following chart shows 7. Prefafes # & 'ﬂ'ﬂff-m aé e Rz
individual figures at a specific time am § =fRme aTies! am 2 4 g
or makes comparisons, but it places w2, dferd 98 Tm?l g T A SR
- less emphasiz on ime flow 7 E R
(A) Line ~ - (B) Pie (A) oA B T
(©) Bar (D) None of these (© = (D) ¥ @ WIS TE
[Ef; Not attempted _ S ' {E]' .
8. The transformer represent as - 8. E[F‘ﬂﬂt = § TER ‘Slzﬁf'ﬂ ﬁ;ﬂT =
(A) Rotating dmne- S 'J‘“ ; Hehl o
(B) Electronic dmﬂe (A) G I
Copdnm w (B) THATEITH ITHT .
{C] Statlc dcv'l{:e E e ©) b e B
(D) Norie of the abw: T (D) ST A I Eos dl
(E) Not a.t‘l.emptcd M : ® FwRa
9, Two magnctu::’ hnca-. nf‘fcin:rééé ' 9. T °& &I g9 fec 11 3 b
(A) Intersect each other . (A) T TER i WDy -cm%r ‘if
(B) Do not intersect ; ' ‘B) ﬁﬁzqﬁmﬁ%
(C) Are crowded ¢ 1 ©Wst :
(D) "All of the-above SEE o) sHEFw
(E) Not attempted : (E) m s
' @ State e Giil coyliemeatinsm. 1| a0 v e S 15351 HT ITH
decimal number (B35),,. BHGE WA | ¥
(A) (6454), (B) (4564), ' A7) (6454), (B) [455‘;}; 1
(C) (5465), (D) None of the above (C) (5465), (D) I H & = Tl
(E) Not attempted : (E) 31 oo o
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11.

12,

13.

14.

15.

“(E) Nut_att_mﬁi:}tgd

{€) DIAC

What is positive feedback In o7

amplifier circuit ?

(A) Feedback that i
input gignal vollage or current

Feedback {hat decreascs the
input gignal voltage OF current

(C) Feedback that produces as

undamped ascillation

(D) Feedback_ﬂiat is 180 deprees out
of phase with the input

nerenses ihe

(B)

the fullﬂvﬁng, -::'lcw.:;,es can
current and

both direction ?
(SCR]

i
Which of
control _altEmating
conduct current in

Eﬂiﬁ)‘i':l-bﬂﬂtfullﬂd Rectifier

(D) LASCR Stlg

{E) Not attcmpf:er;l.. i

(A)
() TRIAC

] 'Ef-;i_ivﬁen current is

In an electro magn
switched off, the Iron-bar.

(A) Holds its magnetism. -

(B) Gains voltage . S

(C) Losses its magnetism

(D) Gains current;:= o

(E) Not attempted. P

Majuli 1sland is in'which river ?

(A) Kaveri (B) -Ganga

(C) Bhagirathi - (D) Brahmaputra
(E) Not attempted . . S

are an example of a |

. ..'éﬁmﬁma;tiunal"f:ircuitl

(4) Shift registers.
(B) Multiplexers
(€) Cﬂllﬂt_elrs
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(D) LASCR
(E) srwntag
13. T faem
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A) AF TaFe :
[B]mmmmmﬁ

AC) R Fahea | 3

(B) s
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16,

17.

" 18.

19.

For low resistance measurement,
which bridge is used ?

: Ele s
(A) Maxwell bridge %
(B) Kelvin bridge i
(C) Guarded Wheatstone bridge
(D) None of the above
(E) Not attempted

Which of the following chart is
used to show how values change
over time to compare data or shqu.r
trends? N AT

(&) Line (B) Pie
(C) XY Scatter (D) Column
(E) Not attempted

When both the input signals Aand B of
the NOR and NAIND gate are connected
together, the output of the resultant
circuit will be equivalent to -

(A) OR (B AND
(C} NOT .-_ ., iDi None. nf the above :
(E} Not attempted

~Which smenuat is best known for

; mtrnducmg the .Fl.tnnuc thcury into |

" the chemistry ? - '
(A} John Dalton

(B) Rutherford

(C) J.J. Thomson
(D) None of the above
(E) Not attempted

Ral::: ﬂ:ﬂﬁnd condition can be avoided
in Digital logic circuits using

[A] Master-slave JK th ﬂup

(B) Shift Register

(C) Full Adder

(D) AND Gate

(E) Not attempted

CG - EE24
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fon e @ 7
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(E) e
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w0 o1 73 fan & fag wmm % a4
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(A) T (B) ré
(C) TETd ¥heX - (D) HIEH
(E) Ssfed

18. W9 NOR 3it NAND iz ¥ @i gqe fma
A 3t B TF w9 93 B &, @ aftomdh
wffe =1 asege e at=r g ?

. {A) OR (B) AND
(©) NOT (D) S9gea | | Fs T
(E)

1o, v Fr 3 wony fgia = A 5
fore 2 A wad e & 7

(&) ST STeeT - EEE
(B) TTHIE ﬁ%
() = 1. oiga
(D) S # | w0 T
(E) Imfda
20. fefme affe affe § W swds e 2
TerermnT I = == o AT & 7
(A) AF-TE JK fFe-veig
B) R wrez -
(C) T= T
(D) AND 72
(E) TRnfa
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21.

22,

23.

24.

26.

Open wiring is also known as
(A) Casing-capping wiring
(B) Conduit wiring

(C) Concealed wiring

(D} Closed wiring

(E} Not attempted

An 8:1 MUX has
(A) 1

€ 3

(E) Nnt a.ttempted

select lines.

B) 2
=

(D) 4
Switch should always be connected
with

(A} Phase wire (B) Earth wire

(C) Neutral wire (D) None of the above
(E) Not attempted

What is the main purpose of usinga '

chopper in an electrical circuit ?
(A) To convert AC to DC

(B) To convert DC to AC

(C) To obtain a variable DC output

voltage from a fixed DC voltage
source

(D) To increase the frequency of AC
“supply
(E) Not attempted

The unit of magnetic lux density is
(A) Weber/m? (B) Lumens

(C) m?
(E) Not a.ttemptcd

Which of the follumg is Fastest
Memory ?

{A) Cache Memory

(B) Auxiliary Memory

(C) Secondary Memory

(D) Virtual Memory

(D) None of the above .

21.

22,

25.

26.
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27.

28.

29,

High Tension (HT) Line means

(A) 230V (B) 440V

(C) Above 11 Kv (D) Below 11 Kv
(E) Not attempted '

The Article of the Indian Constitution
provides for setting up of
Administrative Tribunanls

(A) 322 A (B) 362 A
(C) 329 A (D) 326 A
[E) Not attempted :

What is the main goal of Zero Hours'

Maintenance {Gverhapl} P

[A] To maintain a certain service
level on equipment

(B} To correct defects found in
equipment

(C) To leave the eqmpmenl; as if it
Weres rew

(D) To report the status and :

- opcrational capagcity of EIEEI
: -1z a set of protocols that
allows you to access any document

“installations
(E) Not attempted
based on the net through a naming

. .system based on Uniform Resource

31.

Locator (U EL's}

(A) Transmission Control Pl'ﬁtﬂﬂ-nlf
Internet Protacol [TCE/IP)

/,.{E] Hyper Text Markup Language

(HTML) - _ . -
(C) World Wide Web [WW'WJ
(D) Open Source Software (OSS)
(E) Not attempted ;,;=. =
is an instrument which
measures the insulation resistance of

an electric circuit rf:lahw: to earth a.nr:i
one another,

(A) Tangent galvanameter

(B] Meggar :
{C) Current tranafurm::r B
(D) None of the above :
(E) Not attempted
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32,

33.

“ (C) Light i
[E_] Not aﬁemp[e’d '

35.

Which type of chopper inveolves |
converting DC te AC and then back
to DC using tranaformera ?

(A) Step down chopper
(B) Step up chopper
(C) AC link chopper
(D) DC chopper

(E) Not attempted

What is the depth of the trench
required for direct laying of
underground cables ?

(A) 1 meter (B) 1.5 meters
(C) 2 meters (D) 2.5 meters
(E) Not attempted

Concealed wiring is safe from
{A) Humidity {B) Heat
(D) Electricity

'The purpose of co nduchng open

circuit test in transforiner is to
dctl:nnme :

(A) Eddy current Inss

;.. (B) Coreloss- f
(C) Hysteresis loss = - :
(D)-Copper loss " EERE
(E] Not attcmpted -

36.

Largcst wh:at pmliucmg State in

' Ind.la is

[&} Madhya Pradesh
B) ‘Andhra Pradesh
(C) Uttar Pradesh .
(D) Assamiciry - Foestin um
(E) Not attempted .. . - ,

32.
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34,

35.
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(A) R BIH T e

(B) R4 31 wH ]E:dfﬁ

(©) Ac o aTH

(D) DC =R

(E) Frrnfe
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T 1 weud fReft ® 7
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36..

(c) et afy
(D). TR B E
(E) Fuaifaa

-wﬂmmﬁmwﬁ

(A) TEANRE
(B) ISR
(C) Iawaw
(D) @
(E) swafe,
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a7.

38.

.Which law states that the illumination

eis proportio nal

atany pointon asurfac
' gle between the

to the cosine'of the an
normal at that point and the direction
of luminous flux ?

(A} Inverse Square Law

(B) Lambert’s Cosine Law

(C) Law of Conservation of Encrgy

(D) Stefan-Boltzmann Law

' (E) Not attempted

The Articles envisages states

. to provide free and compulsory

education
(A) 45
(B) 21 A

... (C) Both 45 and 21 A

39.

(D) None of the above
(E) Not attempted

In indirect resistance heating, how

is the heat produced delivered to the

charge ? R )

{A) By direct contact-of the heating
element with the charge

- _[B]__.Tl;ruugh a ppmbinatinn of
. radiation and convection

i _[ﬁ]__ Adventitious roots
(B). Nodular roots -

“(C) By the flow of hot and cold air

currents i
(D) By passing electric current

directly through the charge
(E) Not attempted . . |
Roots arise from parts of the plant
other than the radicle are called

(C) Tap roots
(D) Fibrous roots
(E) Not attempted

a7.

33-‘

39.

40.

(A) 45
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41, A two-way switch is used for

(A) Control one bulb from 2 points
(B) Control two bulbs from 2 points

(C) : Control multiple bulbs from 2
points

(D) Control one bulb from nﬁ_e point |

(E) Not atte_mptl.-.q:l

42, : software can be freely

used but it does not have to be free of
charge.

(A). Open source
(B)- ‘Free. Software Fuundatlnn [FSFI

) Freeware m_gm_
=

(D) Frm: aoftwarc
(E) Not attempted

43. The battery used in e.Iectrm vehlcles i
and Aeruspar:e apphcauuns is
(A) Lead acid cell battery
: B)- L1th1um~lan battery ..
{C] IJPS battl:r_v i

[D] Charger batte:qr_
[E] 'ﬂut attempted i i

44 Dlstnbutmn bnard is used fnr d1md1.ng
" Yan electrical pﬂwzr i‘eed into -

g \E 2puths Vi eatite [l |
(B) Subsidiary circuits ’
(C) Transformer
- ,~(D) Switch - Co |
(E) Not attt:mpted Loy |

45, The famous Parthennﬁ or the temple |
of Virgin was huﬂt n:-f culuurcd marble’

stones in i
(A) Athens {B] Mcsnpntemm i
[C} !E_ume {DJ Egypt i

' |

41,

42,

CG - EE24
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45.

‘[B}maﬁi-«:’"‘
© ;

o (D) -feam;
- (B)- aqsmﬁqa .

1."-..--.l :_—': H

(A)' 291y
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46:What kind of testing invelves

47.

48,

49,

0
i

measuring the insulation resistance

across earth and the whole ayutcm of |

conductors ? :

[A) Electrical Wiring Cunﬁm.ﬂty
Testing

(B) Electrical Insulation Resmtn.ncv:
Testing :

(C) Electrical Earth Continuity Path
Testing

(D) Electrical Performance Tesl;mg

(E) Not' attempted

Which typr. uf weldmg process involves
melting of the parent metal ?

(A) Fusion Welding %
{B) Non-fusion Wclding- -

'-{C] Rcslata.nc: Weldmg o ION

{D] Sp:}t Welcbng o _

[E] Not atten'_l_ptg_d ippi =il

Acetylation of Sﬂll.l'.'jfl:lc acid li!;pduci:s i
LAJ Phoagcn: y i .
) Cumene
(C) Aspirin . . . _
(D) Salicyl anh‘fd.nd!:j 1_

(E) ﬁﬁf‘_aﬁgmptcd o

THE )]

is new forms of warfare;

o Fit attacks'the critical mformatmn

** infrastructure of thr,- nanon

[B] V’rua attack

(A) Spoofing

[C] Cyhermnm - . |
(D) Cyberterrorism =
(E) Not attempted ™

CG - EE24

46. fora war % gliau 1§ geft st Fewi
& qft woredt # wgRT wfedy # wrEn
it § 7
() forea amt ) Feren = gliqw

(B) forega grgerem wftdy wligm
(c) Foraga gt P w9 whagm
(D) ferega wga wligw

(E) arsnfea

a47. ﬁmmﬂﬁmﬁ@ﬂ@ﬁ
e e ® 7
(A) WA afesn
(B) M- afegt
(o) Wi afegT
'm}ﬂﬁ%ﬁ?ﬂ"
{E]amﬁﬂ

48. mquﬁﬁsﬁm_
mm%l e e e
7 (A): W e B
(B) FpfT R
(C) TEmmiE - R
() Afder eSO
tE:mﬁﬁ _-f-. .

ﬂnﬁfiwmﬂm
@ .. éﬁ :
.. (B) FIEE-HLEAET v .
e (C) ATEELITAT ¢
(D) W AEHAG -

(E) STSIferd v o
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50.

51.

52,

. —B) cmc'ébﬁﬁﬁuer'

For electric traction, the motor

used Is
{A) DC shunt motor

(B} DC series motor

(C) DC compound motor
(D) AC motor

(E) Not attempted

Ina step down chopper, what
component provides a path for the

load current when the switch is
not ON ?
(A) Inductor

(B). Resistor ~ -

(C) Capacitor. {
(D) Freewheeling.Diode [DF]

(E) Not attempted ... . .
Which type of PLC-like device.is

commonly used in ]Jght mdustry
and offers a lower cost alternative

to traditional PLCs 2 .- ExE
(A) HMI Controller | %

(C) DCS Controller =
(D) PLR [Pragrammable Logxc Rela,?}
(E) Not attempted

e .
[eabsi, Loy

.'\.'I

Find the analogy. "-=7 - ",
Warm : Cold.:: Kmd it o
(A) Good = [B} Mermful
{C) Gracious [Dl Cruel

. [E} Nntattcmpted %
.

: _:ds sﬁftwam cnde thatis
des:gned to search for mfurmatmu on.
the: wand wide web, | °

(A): Klith vestrcli enging -

(B) Uniform Resource Locator [U‘R.L]
(C) Domain Name' S:,rstcm |DNS}

[D] Web browser:: i (1)

]

i

50.

51.

52.

53.

54,

CaG ~ EE24

‘h‘@;ﬁfm#m‘ﬁﬂﬂmﬁﬁm

(A) DC ¥ie e

(B) DC Hift A

(C) DC HUIEs He

(D) AC T

(E)

2 3 9 A, 54 e ON 7 g 2
ﬂ@q—mmﬁzm%ﬁmwm

HAR 7 %

(A) $=F
(B) wieiEes

(C) guiE - :

o {D]sﬁaﬁ’rﬁmgﬁmn,]
-{Ejmfém %
féﬁam%mcﬁﬁmmm
HWG: g A 3 fRET T ® aun aw
iR PLC I gerl § %9 @rTd Sren
(e B CiE i o) B
(A) Hmm
(c) pesfg=s - .=
D) Pm(ﬁmﬁaﬂaﬂﬁﬂ;ﬁﬁ]

(E) sTRnfEE

mmm?rﬁﬁl

T ; 387 1 TR

(A) 3T=ST [B;.anar:r

(© meweft D) E

.,IEJ.
ﬁmﬁﬁm@s%ﬁ'ﬂﬂﬂ

Hﬁgaﬁﬁm@aﬂﬁmm

o T R

(A) ¥ & 9T

{quffmf{aﬁ?ﬁﬁmﬂm}

[C}ﬁﬂq?ﬁ'm[m,} '

(D]%ﬂw it
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g5. Which of the following is not a

requirement for good lighting ?
{A) Sufficiency .

_(B), Absence of glare

(C) High contrast colored light
(D) Steadiness

) .[E] Mot attempted

56

Which method of heat transfer does
not require a medium for propagation

i "and occurs+in a su:mght line ? -

57.

& .[E] Not: attempted

8.,

" (C) Radiation
' (E) Not attempted

(B) Cunvechun
__[D} ]pﬁucﬂun

{A) Conduction

—= > printers are ideal for
pnntlng multiple copies. ; . -

(A) Impact
(C) Thcr'mal _

(B) Non-impact

What role does the power converter

" p].H.}F in an electric dnve systcm ?
(A) It converts electrical energy to a .

suitable form and controls power
flow to the motor

‘(B) ‘It controls the ‘motor directly

. W'lﬂmut feedback

" (©) 1t only converts AC to DC

59-

(D) It measures the speed of the 1
motor ) E%E
(E) Not a.ttcmpt:d - d %%
‘Who among the ful]umng :
personalities is considered as the
founder of Kun;pura pnnmpaht;,r in
Haryana ?
(A) Mith Singh  (B) Sahlb Singh

(C) Gurdit Singh (D) Nl]aba.t‘fﬂmn
(E) Not attempted "

[D} Lase.r : |

55.

56.

57.

"58.

CG - EE24

=) A 3 fery, Freaferfia i -
Hr7-d srazadma TE & 7
(A) S

(B) =rwTeg 1 3T

(C) F=a wigre TfA
(D) et Ol 7]
() srmaifem e

Foq Tt 4 feg fuf # e
¥ forg meaw i sz T e
T ER @ FETm g 7

(A) EEEH - (B) TAEA

(c) fafror (D) BT

(E) rwafid

fiex o sl = i 7

F‘wmaﬁmﬁlﬁﬁl :

() 3 -(B) FA-FHE
(D) T

(C) =ie
(E) :mmﬁa

ﬁgwmﬁwmﬁw
mﬂf;ﬁ;:;ﬁiﬂ il

A) T8 R

[ afEfia s & o we # feeft
- ware i Frafia w2

 (B) FE o rede & @i e B

Prifaa =t @

""-(C} IR Hae acﬁ Dcfhhaﬁa

Ul

" D) ﬂaﬁaaﬁiwﬁraﬁm%

59.

(E) aamﬁm

ﬁmﬁf@aﬁﬁﬁawﬁ%ﬁaﬁaﬁwmﬁ:
FIga SR T TS AT ST @ 2
(&) e fire (B) e fiw

€ TRafie (D) P

(E) 3Twnfaa


Guest
Rectangle


60. What is the main purpose of U;IDE a |
level in electrical Installations

(A) Measuring voltage = - -

(B) Ensuring installations are |
straight and level

(C) Detecting voltage presence
(D) Routing new wiring
(E) Not qtt{;mpt_m;l[

61. A paralle] combiﬁa_tiun of two resistors

of 1 Q each, is connected in series with |
a L5 resistor. The total combination j
is connected acrosg a battery of 10 V.

The current flowing in the circuit is

W54 mooa
@03 T g 0.54 .
~(E)'N u't'attempt:d

G

the Eureau of Energy
responsible for 7

Whatis
{BEE)

Fe [M"‘Spearhead.ing the.-impmvement-ofi
energy tfﬁcien-.;j.r of the economy |

62, Emeiency.-

(B) Increasing energy consuniption in
7 i india - e fa) |

'
|
|
]

(), Developifig new éndigy resources
(D) Distributing electricity to
L‘Dl:lm.;ltnﬂl's - \I o EEeE

(E) Not attempted . - :

Bk ang |.-'1';L o i e g - |

63.

Find the analogy, . - .
____T:Humar.r_.

Gills : Figh .-

Y
(B) Hands "~
(C) Nostrils -

srﬁftanT-ﬁ:ﬁﬁaer
o 7 Sy
(A) T2 T

(B) & AT T B Ty o

(C) Aeew qu‘ﬁll E’F ﬁ'a"l‘l?n Gt

(D) 7§ IRRT T ey -~
Bri
3

l 60.

‘ﬁ 71}!

Enﬂﬁ;ﬁ%‘q’f . q-,-,
IO G 1.5 0.

61,

RICT LS e - F
(D). 30 ) Rt R v

-
i) M o
i 1 ,[é_]' EI‘*-I

i I

() T

B e o
[

(E) Not attempted ~ 7. - 1,

DI o
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64‘

which type of timer retains its
accumulated time even if the
enabling input goes false ?

(A) Delay-OFF A

(B Delay-ON

65.

66.

_ _-I[ﬁ] Rc'si_s.tbr -
(C) Capacitor

(C) ‘Delay-ON-Retentive
(D) Delay-ON-OFF
(E) Not attempted

Which type of power converter is

used to get variable voltage/variable
frequency from a DC supply ?

(A) AC to DC converter

'(B) DC to DC converter

(C) Inverter
(D) Cycloconverter
.[E]' Not attempted

o % EIE
B

Which of the following is .nnt an
example of a passive element ?
= (B) Inductor

(D) Voltage Source '
(E) Not attempted . -

- .What is the -d:ﬁniti_un of Spacing

Height Ratio’in lighting ?
(A) The ratio of luminous flux to
power consumed
(B) The ratio of the distance between
" adjacent luminaires'to their '
height above the working plane

" (C) The ratio of the illuminance to

68.

the distance from the source
(D) The ratio of luminous intensity to
the area of the surface
(E) Not attempted
is the main geographical
feature of Haryana in southern part
of the state. _ N
(A) Shivalik hills
(B) Ghaggar plane
(C) Semi desert
(D] Aravali hills ..

64,

65.

B7.

CG - EE24

ﬁmmmmﬂwmmﬂ*mﬁﬁ'ﬂ
s} s wfer wwa A T %7

(A) Delay-OFF
{B) Delay-ON-

(C) Dclay-O N-Retentive

(D} Delay-ON-OFF

(E) Torfere

DC 3y A it dreest/ R
arrgfa Wt w9 ferg foFa WRR % T
e 1 I fopn S @ 7

(A) AC & DC HA&

(B) DC & DC

(C) ¥t

() FhQus (B) Fic]

(c) difa (D) drees Ha
(E) A9 '

T Sreeen § i wEe e B

I
(B) mmﬁa;ﬁﬁqﬁ%ﬁﬂ@aﬂmﬁﬁa
el & IR TS % I §

©(C) A & gt e T W I

(D) TaE % 89 % fow aweer disdn i

9™
(E) Tt )
e & gl wm 3 T 6t
Tt Wiifer fedrrar 2 |
(a) foranferss werieat
(B) ©R T FH o
() o e - - '
(D) IR HETT

Ep
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69,

70,

71.

Why is it crucial for a power ﬂtatim'f to

regulate electrical energy generation

according to demand ?

(A) Because electrical energy can be
stored for future use

(B) To prevent overloading the power

station
(C) Because all electrical energy

generated must be consumed

immediately I o
(D) To maintain a constant voltage

supply _
(E) Not attempted |
The - function repeats text a,
given number of times.
(A) REPEAT  (B) RIGHT -
(C) MID (D) REPT y%
' [=]

(E) Not attempted

What is one of the main environmenital

benefits of using Solar Energy

Technologies (SETs) ? _

{A) Increased greenhouse gas
emissions -

(B) ‘Reduced CO, emissions and -

prevention of toxic gas emissions |

- (C)-Depletion of naturai resources

72,

- 1. Police "

(D) Increased air poliution

.. 7. (E) Not attempted -~ .- -,

Arrange the wdlrd.s given below in a
‘meaningful sequence. )

2. Punishment ' -
3. Crime

S i4adudgesi oo

5. Judgement:: " - 1
(BI* 1312, 4, 3,5+: . . 1. nn
(C) 5,4,3,2,1¢ e
(D) 3, 1,4, 5;:20n5 imr |

1

69.

70.

71.

72.

R

Bobutnded dakia

qEal 8 7

() ifR e S ) ufee § g,
% fere audla R < v 2

(B) TR WA W ARATET B T
% e "

(€) Fifh 377 g el B forgp
mwmmmmﬁ

{D}ﬁiﬂ'{#\ﬁﬁm‘{ﬁmr@i%m

(B} FsaiEd .

%A @ T e 3 g
et B
{A) REPEAT
(C) MID
e |
HieT Tl TRt (TEEE) T 3%
F g il T d @ o

~ (B) RIGHT
(D) REPT

(A) TErEE TH I 1 i

~ (B) CO, o9 H HH1 3 FEdted Ty

oo 6 UhyT
'{Clwﬁ*ﬁmﬁ-_gﬁrm'
(D) T T A

i


Guest
Rectangle


73.

‘Which programming standard do most

modern PLC systems adhere to ?
(A) EEE 802.11 « (B) SO 9001

,.;r{'c}- '113&-'51{31;3 (D) ANSI C++ .
. (E) Not attempted

mx=——,ta..n = ol
”q‘mm. v EeE |
(LR (B) 0 : |
() -1 2 8 |

75. Which type of solar c:nli;:f.'tur is

= [E):Not attempted _ !

commeonly used for residential
water heating and can achieve
temperatures less than 180°F ?
(A) Evacuated-tube mllectq-rg.r
{E] Flatuplate collectors
[C] Parabolic trough collectors
(D) Central receiver systems".
{E] Nnt attempt:d ot |

76. Which tunl is specifically des;gned for | |

= () Multimreter

wire cutting and can trim wires in
ught spaces ?

(B)Fish Tape -
(C) Plier (D) F‘lashhght
[Ej Nﬂt attempted ik

7. What is one methcrd for improving the

pt-wer -factor in a facility ?. - =
{A.] Installing capacitors .
(B) Incrcasmg the renctwe puwer

% .ri.| dﬂmand ) 3 . S -

(C) Adding more inductive loads
(D} Reducing the voltagé supply

73,

74,

T5.

76.

CG - EE24

sty snafis duerd) fawen
rofé o o 9reE w0 8 7

(A) IEEE 802.11 (B) 1SO 9001
(C) IEC 61131/3 (D) ANSI C++
(E) smznf%r?r

yfe sinx = 2,,tﬂﬂj’= -?ﬁ o
1+t

A B -

(A) 1 (B) 0

[C) -1 (D) 2

(E) arggifaa :

mmﬁmwmmm

W aaTd W @ & g e s

? 3 9% 180°F § &H AIHIA Al H
aHAT R 7 EEE

(a) PeFra-=@ @IS @

(B) e~ HATEH :

(C) qﬁ?‘l‘ﬁlﬂ-‘rﬁm

D) ﬁgaﬁ%ﬁatﬁm

(E) TS '

'w-mmﬁmﬁmﬁmﬂ

tﬁq%ﬁmﬁ?mw%eﬁhaﬁmﬁ
ﬁ'ﬂﬁﬂﬁnﬂm% T
[a}rraﬂwﬁzt @) T

(C} IR tDl_

E) g

ﬁsﬁgﬁmﬁwﬂmxﬁw%m
R R T
(a) W enftEww

. - (B)-wfframie fasrel frwim d.9fg

(C) Hftreh AFTHATCH M SigT,
(D) dteest mfd + HH HE
i s et o e
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78. What is the characteristic of an
independent ideal voltage source ?

(A) It has infinite internal resistance
{B) It produces a variable voltage
across its terminals

(C) It produces a constant voltage
across its terminals irrespective
of the current

(D) It does not exist practically due to

zerg internal resistance
(E) Not attempted

79. Separators in battery is a
material. @48
(A)' Conductive REGT
(B) Non-conductive
(C} Partly conductive
(D) Heavy conductive® =~ - —
{._E'] _3‘Nnt attempted.

80. In Haryana Tajtvrala Bzu‘rage is built -

on which nver !

(A) Saraswati [}3} ?émuﬁa

(C) Knslmavau [D] Chautang
(E) Not attempted '_'_ e &

81. The mrecnnn of md.uccd cmf in
generator i 13 found by

(A) Fleming's Left- hand rul:
(B) Fleming’s R.lght hand rule
(C) Faraday’s law - i o
(D) Kirchhoff slaw e SR

(E) Not attempted

82.° What is the init of illumination ?
(A) Candela ~(B) Lux
(C) Lumen (D) Watt ©
[E) Not attempted | g

78.

79,

80.

©h T el A A A g,

R 7

(A) va% Sitater yRT s 3

(B) a8 AT el R 0
diees IH T 8

(C) 7 Fie F wEr fhy e g
zﬁaﬁimqmﬁknaﬁqm
EnGil

(D) Y At S F H gmay
g &9 8 A 78 3

 (B) IvAfE

(A) SaTEHI :

(B) Tr-wamgshry

(C) - 3TifiF ¥ & TarEehi

(D) Wit WaTEhia '

(E) mEiRE -
aﬁamﬂuagﬂmmﬁ:%a‘mmm% )

(A) T “(B) g
(C) FomEe (D) e

" (E) I

B1.

O SRE .

82.

et . Mt S ) for i

() T 1 W v
(B) wifim %1 et g = faw

(D) =i =1 fomm - o
(E) Jwam - :

:Wﬁfm}aﬁﬁdw%?

@ FA. . (B W

() T . (D) TR

B agarfirs -


Guest
Rectangle


"

83..

Which type of renewable energy
lnvohres the harnessing of heat from

" within the Earth ?

85.

R, 2n
:

(D) Exactly 5 km :
‘---[E} Hut at'tcmptmi

{A) Solar Energy

(B) Wind Energy

(C) Biomass Energy
(D) Geothermal Energy
(E) Not attempted

To add a c_ulu.rnﬁ or a row number,
the library function used is

(A) AVERAGE  (B) SUM'

(C) COUNT = (D) MAX

(E) Not attempted '

What is the primary i:ﬁarac'tﬁ'-isﬁc
of main line services in terms of the
distance between stops ?

(A) Less than 1 km

(B) Between 1 and 8 km
(C) More than 10 kmn gz

" - Whmh 'law states that the L]Ium.mannc

at any pumt gn a pla.rm perpendicular
to the line joining the point and source
is inversely proportional to the square
of the distance b:twcen l:he source
and the plane ?

(A) Ohm’s Law

+~(B) Lambert's Cosine Law -
- - (C) Inverse Square Law
(D) Joule's Law

BT.

(E) Not attemptcd ;

Asia’s largest ¢10th mark:et :s situated’

in ﬂt‘Haryana
(A) Ambala (B) Panichkula
(C) Rohtak (D) Mohali .

IFY MAat atrterms=tad - 0 o

83,

84,

85,

86.

CG - EE24

e won B Tl s 8§ el 5
it & Zwar = 2red it § 7

() #re Sl 0/740

(B) T Fl g{@i
(C) T Fi

(D) ot St

(E) stoafte

U THIEW A1 Tk U % T4 I A8 &
fere, ﬁﬂﬁmmﬁmﬁﬂﬁ'ﬁmﬁ
(A] AVERAGE
(C) COUNT
(E) - 3tranfaa &

Erﬁé;ﬁaﬁﬁrapﬂ?mﬁﬁgmmﬁ
Wﬁmﬁmﬁﬁmm% ?

a) 1w

® 13 s Hda

(€) 10 Tt & sfers

{D]ﬁlﬁa?lﬁﬁ'?d’t

(B) SUM
(D) MAX

(E) mﬁm
ﬁa—mﬁmﬂm%%ﬁg s g A

Siga Trel t@n F waad ad W i
ﬁgqﬁruﬂ'ﬁra’maﬂzaﬁ#a‘lﬂﬁq@

I.Iﬁ;ﬂﬁ%qaﬁmgrrﬁhﬁﬁﬂ% T

B87.

(A) ¥ =1
{B]ﬂﬁémaﬁmﬂﬁm
[C}Ggmaﬁﬁm

(D) St 1 Fram

_.{Ejamm@m
-q&mmmmmmm%

R

(A} SFETEN . . . (B) GEEE
. (D) Hrerelt
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BB,

89,

90.

21.

- electrical em:rgy ok
" (A})-Rotor -

Which Lype of instrument requires no
calibration or comparison with other
instruments and gives the value of
an electrical quantity in terms of
absolute quantities ?

(A) Secondary instruments .
(B} Electronic instruments
(C) Graphical instruments
(D) ﬂhanlutelinstrumenta

(E) Not attempted

If the network contains at least one
, it is an electrie circuit.

(A) Open path

(B) Closed path

EC] Resistor . 1

(D) None of the abmre

(E) Not attcmpted

Which component of a wind  turbine

is responsible for converting the
kinetic energy' ‘of thc- wind into

(B) Transmission
(C} Tower " .- (D} Generator
(E) Not aﬂ:mpted X

The bndgc: used fur the measurement

of self- mductance nf the  circuit

comparison is known ag i
(C) -Scﬁering Bridge -

which works on the' pnnclplt of the
(A) Maxwell’s Bridge .-

(B) Anderson Bridge

(D) None of the above - -

Bl Mak atbame i 1 I

89,

90,

"~ [E) swaEfiE
91. ¥z % @I ﬁ: lm 95 %r'zsqa'm

(A) TRR

CG - EEQ.;

Pﬂ;m#mﬁmw%
wmmmﬁm%

il & ded # 3 R 7 |

(A) Heafis ITRTT

(B) eI IIHTI

[mmﬁﬁ—am

(D) gof IgHT ..r'E!
E) sfm @

ofe Jzah § w0 8 =Y wH 3
at 7% o forga whuw @

_(A) @
.(B) Wg 9%

(C) wfatius _
(D) S7% ¥ 7 = 7

[E) e

-ﬁ%mmﬁ?émmwﬁnh

m‘iaﬁf&gamﬁv&aﬁaaﬁﬁ%ﬁm
e g 7
[aj;'rﬂﬁrm

(€ = rm?ﬁiat

T s e v = or % Rrgia w
I A R, Fge

(4) AFERe firer

(B) TSt Tt

(C) 3T ey
m]@éﬁﬁ@rﬁéwﬁ
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93.

Binary operation * on R = {=1} defined

by a*b= .bn is

+1
(A) *is associative and commutative
(B) *is associative but not commutative

(C) *is neither associative nor
commutative

(D) ‘* is commutative but not

" associative [E%:0E
(E) Not attempted EII!%
Which of the following forces is
necessary to return the pointer of

- an electromechanical indicating

" .instrument to’'its zero positior

94.

a5,

when no input signal is present ?
(A) Controlling force

(B) Deflecting force.

{C) Damping force

(D) Inertial force

(E) Not attempted

“Which one of the following is used as

ENErgy wnvertnr in optical materials ?

{A) Dpt:c Fibre Cab‘.e
(B) LED o
(C) LASER

(D) Solar Panel

iE} Not attempted

What is ﬂ'l.f.‘ pnma.t]r use ﬂf a

multimeter ? '

(A) Measuring wire lengths

(B) Stnppmgmre msula.tmn

(C) Checking vnltages current and
resistance

o e NI T T, | Uyl B oy (POt Ju_ LY. . 3 ey

92.

93.

95.

CG ~ EE24

u*h:ﬁi 1at afrafee R - (1) 9
faamarh whfra « 8

(A) »aganh 3 s

(B) « wEanft aig wa=h 72 2
(C) « =1 wgarh 7 & waad
(D) « weref R uig wearh Tl 2
(E) swanfee

v 1§ e e dog i 2, @

i fufy wt aa e 3 fo Prefafa
# & wH-91 9 AEAWEF B 7

(). Pt w1

(B) Tadm @l

(C) JEHG ol

(D) W ae

[E} S

ﬁ#ﬂsaaﬂwﬁﬂmﬂﬁm
qmﬁlﬁﬁmfwhaﬂmﬂamﬁﬁﬁm
wae 7
(ﬁ]ﬂﬁmmm
(B) UmisEl
(C) =
(D) "R %=
(E) 3rvnfad -
[A]mﬁaiﬁm | joi
tsiﬁzﬁnmﬁﬂm
(C) a:‘@ﬁ,%:aﬂtﬂﬁﬂuiﬁtﬁthm
(D) Tiees 3=l =1 991 s
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96.

97,

98.

99.

100.

What is the primary source of energy
in biomass ?

(A) Chemical reactions

(B) Sun

(C) Geothermal heat

(D) Fossil fuels

(E) Not attempted

India’s first mndemtsed Anganwadl
Center was launched in this place of
Haryana

(A) Hasanpur

(C) Rai

(E) Not attempted

"[B). Fatehabad
(D) Jagadhari :

. The rate of change of volume of a

sphere with respect to its surface
area when the radius is 4 cm is
(A) 2 cm?*/cm?

(B) 4 em®/cm?

(C) 6 cm?/em?

(D) 8 cm®*fem?
(E) Not attempted _
Which of the following effects is
primarily utilized in the construction

of commercial electrical instruments ?'| .

(A) Chemical effect :
(B) Heating effect
(C) Magnetic effect
(D) Electrostatic effect :
(E) Not attempted - :

What does a non- cuntact vnltage
detector primarily check for 7.

(A)-Wire Icngl.hs :

|B] Ciurrent presence )
© antage presence
(D) Wire insulation - -
IEY ‘Nat aftars mbomd

96.

97.

98.

99.

.| 100, TH

A - EEqu

mﬁwﬁaﬁfﬁrmﬁm%m}
(A) Tramafe wffeamd [
(B) &

(C) i W

(D) SHarw dom

(E) FTwafem

W 1 Y8l YA ey
%ﬁummmﬁmmm ?m"“
(A) B&THU ¢ (B)

(C) ™ (D) =

[E}r '

,ﬁﬁm4ﬁ=ﬁ% ?ﬁﬁ’?@l%m%
Mﬁamﬁﬁﬁm#mg
() Zcm“_r‘cm’ A

(B) 4 cm’fmn*l
(C) 6 cm*/em?
(D) 8 cm*/cm?"

(E) aaifa o
Pffea 3 & B v i

.rﬁgﬁwuﬁﬁ;ﬂqhﬂmhmm%
CoIEm R g oo

(A) TeEfE v DA

(B) AN I'ﬂ%@
(C) HhHT |
{D]:éﬂﬂéﬁ;m

(E) 3rwnfirg

ﬂt—maﬁa’réaﬁémgmmﬁ
et wesme 7
(A} T ht =Ty
(B) Tz Jufeufy
(C) e Furfyy
[Dlmﬁém
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